Three Men, Five Hats, What Color? Problem
Main Inventory, #44

There are three white hats and two black to choose from.  None of the three men sees what he puts on himself.  The third man is blind.

The first man to speak doesn’t know what hat he has.  He does not see two blacks.  So he sees two whites or white/black.

	Man
	Scenario 1
	Scenario 2


	Scenario 3

	1st
	
	
	

	2nd
	B
	W
	W

	3rd (blind)
	W
	W
	B


The second man to speak doesn’t know either.  So he doesn’t see two blacks.  Scenario 3 with a black hat for man #3 cannot have black for man #1.  Scenarios 1 and 2 can have a hat of either color for man #1.

	Man
	Scenario

 1A


	Scenario

 1B
	Scenario

2A
	Scenario

2B
	Scenario 3

	1st
	B
	W
	B
	W
	W

	2nd
	B
	B
	W
	W
	W

	3rd (blind)
	W
	W
	W
	W
	B


If the blind man can eliminate scenario 3, he knows he has a white hat.  So he assumes that he has a black hat and works to find a contradiction (indirect proof).  Here is his reasoning to that end:

· One certain situation for the sighted men is seeing two black hats.

· The first man is uncertain, so he does not see two black hats. 

· Since the first man doesn’t see two black hats, and by assumption the third man has a black hat, the second man would have to have on a white hat, and the second man would know this for certain.

· But the second man is uncertain, and herein is the contradiction.

So the assumption that the third man has on a black hat is wrong, eliminating scenario 3.  The other four scenarios all have a white hat on the third man, and that is why he knows.

